
84-01 JEEP XJ REAR BAR PIN FLAG NUT 

INSTALLATION INSTRUCTIONS 

1. After the shock absorber has been removed from the vehicle.  See Photo1  
2. Using an air hammer, knock out factory welded in nuts.  See Photo 2.  

92108200 

 

Thank you for choosing Rough Country for  your Jeep off road needs. 
 

Please read all the instructions before beginning the installation.  
PRODUCT USE INFORMATION 

 

We will be happy to answer any questions regarding our products by calling us @ 800-222-7023. Rough Country  will 
not be responsible for any product that is altered.  

KIT CONTENTS 
2-REAR UPPER BAR PIN FLAG NUTS  
1-POLY BAG CONTAINING: 
 4-5/16” X 1” BOLTS 
 4-5/16” FLAT WASHERS 

TOOLS NEEDED 
13mm wrench 
5/8” Socket / Wrench 
Air Hammer 

Photo 1 

Remove shock. 

Photo 2 

Knock out factory nuts. 

 



3. Insert flag nut through access hole in the unibody.  See Photo 3. 
4. Align the flag nut with the factory holes.  See Photo 4. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
5. Install shock using supplied 5/16” x 1” bolts and washers from 1082BAG.  See Photo 5. 
6. Tighten shock bolts using a 5/8” socket or wrench.  See Photo 6. 

POST INSTALLATION 

1. Check all fasteners for proper torque.  Check to ensure there is adequate clearance between all rotating, 
mobile, fixed and heated members.  Check steering for interference and proper working order.  

2. Re torque all fasteners after 500 miles.  Visually inspect components and re torque fasteners during routine 
vehicle service. 

By purchasing any item sold by Rough Country, LLC, the buyer expressly warrants that he/she is in compliance 
with all applicable , State, and Local laws and regulations regarding the purchase, ownership, 
and use of the item.  It shall be the buyers responsibility to comply with all Federal, State and 
Local laws governing the sales of any items listed, illustrated or sold.  The buyer expressly 
agrees to indemnify and hold harmless Rough Country, LLC for all claims resulting directly or 
indirectly from the purchase, ownership, or use of the items. 

Insert flag nut into unibody. 

Photo 3 

Align flag nut with factory holes. 

Photo 4 

Install shock. 

Photo 5 

Tighten shock bolts. 

Photo 6 


